$$\begin{vmatrix} -\lambda & -i\frac{\pi}{2} \\ i\frac{\pi}{2} - \lambda \end{vmatrix} = 0$$

$$\begin{cases} y \begin{pmatrix} \alpha \\ \beta \end{pmatrix} = \chi \begin{pmatrix} \alpha \\ \beta \end{pmatrix} \Rightarrow \begin{pmatrix} \alpha \\ \beta \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{cases} x^2 - \frac{\beta}{2} \\ 2 \end{pmatrix} = 0$$

$$\begin{cases} x^2 - \frac{\beta}{2} \\ 2 \end{pmatrix}^2$$

$$\begin{cases} y - \lambda I = 0 \\ 0 \end{cases}$$

$$\frac{1}{2}VA = -\frac{1}{2}$$

$$\frac{1}{2}VA = -\frac{1}{2}$$

$$\frac{1}{2}(i) = \frac{1}{2}(i)$$

$$\begin{pmatrix}
-i \\
0
\end{pmatrix}
\begin{pmatrix}
\alpha \\
\beta
\end{pmatrix} = \pm \frac{k}{2} \begin{pmatrix}
\alpha \\
\beta
\end{pmatrix}$$

$$\begin{pmatrix}
-i \\
\beta
\end{pmatrix}$$

$$\begin{pmatrix}
-i \\
\beta
\end{pmatrix}$$

$$\begin{pmatrix}
-i \\
\beta
\end{pmatrix}$$

$$\begin{pmatrix}
\alpha \\
\beta
\end{pmatrix}$$

$$-i\beta = \pm \kappa$$

$$\alpha = \pm i\beta$$

$$\alpha = \frac{1}{\sqrt{2}}$$

$$\beta = \pm \frac{i}{\sqrt{2}}$$

$$\begin{vmatrix} -\lambda & -i\frac{t}{2} \\ i\frac{t}{2} & -\lambda \end{vmatrix} = 0 = \lambda^2 - \frac{k^2}{4}$$

$$\lambda = \pm \frac{k}{2}$$

Now put into eigenvalue equation
$$\frac{L}{2}\begin{pmatrix}0&i\\i&0\end{pmatrix}\begin{pmatrix}\alpha\\\beta\end{pmatrix}=\pm\frac{L}{2}\begin{pmatrix}\alpha\\\beta\end{pmatrix}$$

for
$$\lambda = +\frac{t}{2}$$
, we get
$$\mathcal{X}_{+}^{(y)} = \frac{1}{\sqrt{2}} \begin{pmatrix} i \\ i \end{pmatrix}$$

$$\mathcal{X}_{-}^{(y)} = \frac{1}{\sqrt{2}} \begin{pmatrix} i \\ -i \end{pmatrix}$$

$$\mathcal{X}_{+}^{(y)} = \frac{1}{\sqrt{2}} \qquad \qquad \mathcal{X}_{+}^{(y)} = \frac{1}{\sqrt{2}} \qquad \qquad \mathcal{X}_{-}^{(y)} = \frac{1}{\sqrt{2}}$$

I)
$$S_y = +\frac{t}{2}$$
, with $C_+ = (\mathcal{X}_+^{(y)})^{\dagger}$ $\mathcal{Y} = \frac{1}{\sqrt{2}}$ $(a-i)$ $(a) = \frac{1}{\sqrt{2}}$ $(a-i)$

The probability $\frac{1}{2}$ $(a-i)$ $(a-i)$ $(a) = \frac{1}{\sqrt{2}}$ $(a-i)$

The probability $\frac{1}{2}$ $(a-i)$ $(a-i)$ (a) $(a-i)$ (a) (a) $(a-i)$ (a) $($

$$S_{y} = -\frac{t}{2}, \text{ with } C_{-} = \left(\chi_{-}^{(y)} \right)^{t} \chi = \frac{1}{\sqrt{2}} \left(1 \text{ i} \right) \left(\frac{a}{b} \right) = \frac{1}{\sqrt{2}} \left(a + ib \right)^{2}$$
To probability $\frac{1}{2} \left[a + ib \right]^{2}$

$$\frac{1}{2} \left(\frac{a - [b]^{2}}{(a - ib)^{*}(a - ib)^{2}} + \frac{1}{2} \left(\frac{a + ib}{(a - ib)^{*}(a - ib)^{2}} + \frac{1}{2} \left(\frac{a}{(a - ib)^{*}(a - ib)^{2}} + \frac{1}{$$